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NGC2476 - KO160 | Model images @ 5635 A, PSF FWHM = 2.4 arcsec

logF )Z\mlg ¢

logF”"

-16.2
-16.5
-16.8
-17.1
-17.4
-17.7
-18.0

-18.3

-16.2
-16.5
-16.8
-17.1
-17.4
-17.7
—18.0

-18.3

logF’ /{liSk

syn bulge is syn
(F)\y —F)\ g _F/(\Jl k)/F)\y

T N

- ..‘_

' ey

e s I"-'I_.-'
p | "
e it

-16.2
-16.5
-16.8
-17.1
-17.4
-17.7
-18.0

-18.3

0.45

0.30

0.15

0.00

-0.15

-0.30

-0.45

-0.60



4.0 le—17

' ] ' B ' \ _I I — synthetic
NGC2476 5KO0160 | R = 5 arcsec | Y \M "W‘ — disk model

— bulge model
— residual

3.5}

A‘A ."W\ ‘,.f A A MY V\
W W v gy A
30l N A Y‘v v“"‘ ~~ !
2.5} _ '
2.0}
15f N"\.
1.0
|_J
l

F, [erg/s/cm® [A]

0.5}

.5
3500 4000 4500 5000 5500 6000 6500 7000
wavelength [A]

-0

-15.5

— Disk (1)
— Bulge (1)

-16.0}|-

-16.5}

log I

-17.0}

=175}

-18.0 |
3500 4000 4500 5000 5500 6000 6500 7000

wavelength [A]

20 T T

=
(6]
1

radius [arcsec]
=
o
I

0 Il Il Il
3500 4000 4500 5000 5500 6000 6500 7000

wavelength [A]




logF), [erg/s/cm?® JA]

-15.5
-16.0}"
-16.5}"

-17.0
-17.5
—18.0

0 5 10 15 20 25 30
radius [arcsec]




